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BbIYMUTAHUE TUNA 60 - 2

60 — 2 = ? Yucno 60 packnagpiBalo Ha CymMMmy ynob6Hbix cnaraembix 50 u 10.
YpobHee BbliecTb 2 13 10 1M nonydyeHHbI pesynbtat 8 npubaButb K 50.
60 - 2 =(50 + 10) - 2 =50 + (10 - 2) = 50 + 8 = 58.

30-8= 30-8= 70-6= 90-8= 60-8= 80-8=
70-6= 50-6= 40-7= 80-4= 70-3= 40-2=
40-7= 40-7= 30-2= 50-9= 50-9= 70-3=
30-2= 30-2= 70-3= 70-1= 80-6= 30-8=
70-5= 70-5= 50-4= 80-7= 60-5= 70-6=
40-4-= 50-4-= 90-1= 50-2= 30-4= 90-2=
90-7= 90-1= 60-6= 90-6= 70-9= 30-7=
30-8= 60-4= 30-9= 40-5= 50-5= 60-9=
70-6= 80-8= 50-3= 20-7= 60-2= 80-1=
40-7= 40-2= 80-5= 80-2= 30-5= 30-3=
30-2= 70-3= 70-7= 90-9= 40-4-= 40-4=
30-8= 30-6= 30-4= 60-1= 90-7= 60-5=
40-2= 80-3= 60-4= 40-8= 30-8= 40-3=
20-7= 90-8= 80-8= 70-5= 70-6= 90-8=
90-4-= 20-3= 40-2= 90-3= 40-7= 80-4=
60-5= 50-4= 70-3= 30-2= 30-2= 50-9=
80-3= 40-6= 30-8= 60-7= 70-5= 70-1=
60-8= 60-5= 70-6= 70-4= 60-4= 80-7=
50-9= 90-2= 90-2= 30-6= 90-1= 50-2=
70-1= 70-9= 80-7= 20-4-= 30-7= 60-3=
80-7= 70-5= 60-9= 30-8= 90-9= 40-5=
50-2= 60-7= 80-1= 40-2= 50-3= 20-7=
90-6= 30-5= 30-3= 20-7= 70-2= 80-2=
40-5= 40-4= 40-4= 90-4= 20-7= 70-9=
20-4-= 80-7= 60-5= 60-5= 30-4= 60-1=
90-3= 30-8= 40-3= 80-3= 60-4= 80-1=
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